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OBJECTIVE 3—d: To simplify square roots of
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numbers that have perfect square factors.
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Simp'lify each expression. Find your answer below the exercise and notice the lette
Write this letter in the box at the bottom of the page that contains the number of that exercise.

next to

2V5 4+ 4V5
(2) 7V3-3V3
) 2V6-7V6
4) 5Vx+Vx
) 9V5—8V5

5V10 + 4V10 — V10
2V3-6V3-3V3
6V7 +3V3-2V7
V2=4V6+5V2 + V6
3Va+9Vb-Vb—-2Va

45 8V3 N
6Vx 8VvVi0 AVTHOVE
| Va +8Vh 3Var7vh:
SN C) R

11) 3V12+4V3
12) 8V5-2V45
13) 7V18 + 2V50.
6V24 - 5V54
—~\V27 +4\/48

(i) 5V8+ V98- 2V/18

17) 2V90 - 3V20 + V40
463 —9V28 + 2V44
2V27x + V75x + 5V 12x
—6VOxX + 3V64x — V/50x

6Vx — 5V/2x

8V/3x

11V2 (S) -6V7+4V11
V10 -9V5 8V10 - 6V5
21V3x P) 3V7+ Vil
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OBJECTIVE 3-j: To simplify sums and differences of radicals.



